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1. 	If the real exchange rate is 1.0, the price level of domestic goods is 120, and the dollar price of foreign exchange is 0.8, what is the price level of foreign goods?

2. 	If the real exchange rate is 1.80, the domestic price level is 120, and the foreign price level is 240, what is the dollar price of foreign exchange?

3. Here are some balance of payments data (without pluses and minuses):
Merchandise exports, 100 
Merchandise imports, 125 
Tourism exports, 90 Insurance imports, 80 
Income receipts from abroad (profit – multinationals), 110 
Income payments (interest payments) to foreigners, 150 
Increase in home country´s ownership of assets abroad, 160 
Increase in foreign ownership of assets in home countries, 200
Assuming that unilateral transfer equal zero, find the merchandise trade balance, net exports (services and income), the current account balance, the capital and financial account balance and the Official Reserve Assets.

4. True or false? Why?
      “If the euro price of a U.S. dollar is 0.80, then the U.S. price of a euro is 1.20.”
 
5.  	If the price level of U.S. goods is 200, the price level of foreign goods is 125, and the dollar price of foreign currency is 1.20, what is the real exchange rate? Explain PPP condition holds or not. 

6. The IS-LM-BP model defines six regions, each corresponding to disequilibrium in the money market, goods market and/or the balance of payments. Identify and describe each of these when capital is perfectly mobile, and when capital is perfectly immobile. 
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7. 	If the price level of domestic goods is 150, the price level of foreign goods is 75, and the real exchange rate is 1.90, what is dollar price of foreign currency? 

8. If the price level of domestic goods is 300, the price level of foreign goods is 350, and the dollar price of foreign currency is 2.10, what is the real exchange rate? Interpret your results. 






9. An open economy with zero capital mobility consists of the following components: 
C = 2000 + 0.6(Y – T) 
I = 300 – 3000i
G = 300 
T = 300 
NX = 400 – 200S
M = 500 
Md = 0.2Y – 1000i 
Where Y is output, C is consumption, I is investment, i is the interest rate, T is the lump sum tax, G is government spending, NX is net exports, S in the nominal exchange rate (expressed in terms of foreign currency/domestic currency), M is the money supply and Md is the demand for money. 

a. For this economy derive the IS, LM and BT schedules
b. What are the equilibrium levels of income and interest rates?

10. Domestic demand (E) is determined in the following way:
E = 2000 + 0.75(Y-T) + G -2000r – 400S
Where Y is output, T is lump sum tax, G is government spending, r is the interest rate
and S the nominal exchange rate (foreign currency/domestic currency)
The money demand equation is Md = 0.5Y -3000r
Initially the government runs a balanced budget, so that G = T = 200
Finally, there is perfect capital mobility and world interest rates are r*= 0.1.

a. If the government decides to run a fixed exchange rate regime so that S = 1, what
level of money supply is required? 
b. Using your answers in part a, what will be the effects of an increase in government
spending by 100. Will the effect on output be greater under the fixed exchange regime
(S=1) or if the government allows the exchange rate to float? Explain your answer. 

11. Consider an open economy with fixed prices, flexible exchange rates, and imperfect capital
mobility. This economy is characterized by the following behavioral equations:
C = 60 + 0.8YD 
Pf = 2
I = 200 – 20i + 0.1Y 
P = 1
G = 300
TA = 0.25Y 
L = 0.2Y – 10i
TR = 50 
M/P = 200
X = 250 + 100 ePf/P 
CF = 25 (i – i*)
Q = 400 – 50 ePf/P + 0.1Y 
i* = 9
a) What is the equation for the IS curve in this model? 
b) What is the equation for the LM curve in this model? 
c) What is the equation for the BP curve in this model? 
d) What are the values of Y, i and e at which the goods market, the money market, and the
external sector are simultaneously in equilibrium? 
e) What are the balances in the current account and the capital account in this equilibrium? 
f) Suppose now that the nominal supply of money increases to 250. What are the new
equilibrium values of Y, i and e? 
g) What are the balances in the current account and the capital account in this new equilibrium?
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